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B - 6 0. 900 8.310 8. 760 7.7 7.7
B - 7 0. 900 2.010 6.510 3.8 3.8
B7 w7 (Fufl) A&t 34.8
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B - 4 1. 500 8. 760 8. 760 13.1 13.1
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B - 6 0. 900 8.310 8. 760 7.7 7.7
B - 7 0. 900 2.010 6.510 3.8 3.8
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H (m) Al (m) A2 (m) A (m%) A (n®) A3 (n)
D - 1 1. 000 - - - -
D - 2 1.000 - - - -
D - 3 1.000 5. 220 3. 720 4.5 4.5
D - 4 1. 500 7. 470 5. 220 9.5 9.5
D - 5 1. 000 9.070 8. 470 8.8 8.8
D - 6 0. 900 9. 160 9.070 8.2 8.2
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SNO.O + 17.9 2.5 0.0
SNO. 1 2. 1m 5.1 3.80 8.0 0.0 0. 00 0.0

+ 1.2 1. 2m 5.1 5.10 6.1 0.0 0. 00 0.0
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BEE H 1. 400 2. 300 1.508
a7 J—h 0. 52 0.95 0.57
LT S 3.07 5.05 3.31
H Hikf 0. 05 0. 10 0. 06
K E AT 0.16 0.32 0.18
W B 1A 0. 04 0.08 0.05
27 Y—Fh 18-5-40
(7£/5) |SEC. 1~SNO. 1 1/2%(0. 52+0. 95) *2. 1 1.5
(7££)  SNO. 1~SNO1+1. 2 0. 95%1. 2 1.1
(Z£/) |SNO1+1.2~SNO. 1+1.9 1/2%0. 95%0. 7 0.3
(F5 /%) |SEC. 1~SNo. 1 1/2% (0. 52+0. 95)%2. 1 1.5
(F5) [SNO. 1~SNO1+1. 2 0. 95%1. 2 1.1
(£ B)  SNO1+1. 2~SNO. 1+2. 0 1/250. 95%0. 8 0.4
5.9
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B P W OREL)
(#2/5) |SEC. 1~SNO. 1 1/2% (3. 07+5. 05) *2. 1 2 8.5
(Z£/%) |SNO. 1~SNO1+1. 2 5.05%1. 2 2 6.1
(F££%)  SNO1+1. 2~SNO1+1. 9 1/25%5. 05%0. 7 2 L3
(£ +) |SEC. 1~SNO. 1 1/2% (3. 07+5. 05) *2. 1 2 8.5
(F ) SNO. 1~SNO1+1. 2 5.05%1. 2 n? 6.1
(F /) SNO1+1. 2~SNO1+2. 0 1/2%5. 05%0. 8 2 9 0

m” 33.0
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H Hikf t=10mm
(££/) SEC. 1~SNO. 1 1/2% (0. 05+0. 10) *2. 1 nZ 0.2
(7£/#) SNO. 1~SNO1+1. 2 0. 10%1. 2 n 0.1
(F££%)  SNO1+1. 2~SNO1+1. 9 1/2%0. 10%0. 7 2 0.0
(FE5) BB HEREREG A 1/2%(0. 30+0. 53) *2. 39%/ (1°2+0.3"2) 2 1.0
(/) SEC. 1~SNo. 1 1/2% (0. 05+0. 10) *2. 1 nZ 0.2
(£i/) SNO. 1~SNO1+1. 2 0. 10%1. 2 n 0.1
(£ B SNO1+1. 2~SNO1+2. 0 1/25%0. 10%0. 8 n? 0.0
(5 /5) BB HERE R 1/2%(0. 30+0. 53) *2. 39%/ (1°2+0.372) 2 1.0
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(7E££) SNO. 0+19. 3~SNO. 1 1/2% (2. 00+2. 30) %y (172+0.5°2)%0. 7 Hm’ 1.7
(/£/) SNO. 1~SNO1+1. 2 2.30%y (172+0.572)*1. 2 Hm® 3.1
(ZE/%)  |SNO. 1+1. 2~SNO. 1+1. 9 1/2%2. 30%{ (172+0.572)*0. 7 Hhm? 0.9
(FF)  SNO. 0+19. 3~SN0O. 1 1/2% (2. 00+2. 30) %y (172+0.572)*0. 7 Hhm? 1.7
(F ) |SNO. 1~SNO1+1. 2 2.30%/ (172+0.5°2)%1. 2 Hhm® 3.1
(CF5)  SNO. 1+1. 2~SNO. 1+2. 0 1/2%2.30%y (172+0.572)*0. 8 Fhm? 1.0
' 11.5
K E AT VP ¢ 65mm
(7£/5) |SEC. 1~SNO. 1 1/2%(0. 16+0. 32) *2. 1 m 0.5
(7££)  SNO. 1~SNO1+1. 2 0.32%1.2 m 0.4
(F££%)  SNO1+1. 2~SNO1+1. 9 1/25%0. 32%0. 7 m 0.1
(F5 /%) |SEC. 1~SNo. 1 1/25% (0. 16+0. 32)%2. 1 m 0.5
(F5) [SNO. 1~SNO1+1. 2 0.32%1. 2 m 0.4
(£ B SNO1+1. 2~SNO1+2. 0 1/250. 32%0. 8 m 0.1
m 2.0
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a7 Y —F 1/2% (0. 30+0. 44) *1. 40 m 0.52
PRI o 1. 40%y (172+0.572) +1. 40%y/ (1°2+0.4°2) e 3.07
H Hips 1/10%0. 52 m 0.05
KR E AT 0.39%1/2.5 m 0.16
Sextgmfg 1/2%(0. 30+(0. 44-0. 03) ) * (1. 40-0. 30) = 0. 39
W H B 1k 44 1. 18%1/2. 5%0. 30%0. 30 e 0.04
SRR HIRE . (1.40-0.30) %y (172+0.472) = 1.18
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W= (0.50-0. 40) *2. 30+0. 30 m 0. 530
a7 —F 1/2% (0. 30+0. 53) *2. 30 m 0.95
PRI 2. 30k (172+0.572) +2. 30%,/ (1°2+0.472) e 5. 05
H Hips 1/10%0. 95 m 0.10
K& RA T 0.80%1/2.5 m 0.32
XxtgmfE 1/2%(0. 30+ (0. 53-0. 03) )% (2. 30-0. 30) = 0.80
W H B 1k b4 2. 15%1/2. 5%0. 30%0. 30 m? 0.08
SR HIRE (2.30-0.30) %y (172+0.472) = 2.15
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W= (0.50-0. 40) *1. 508+0. 30 m 0. 451
a7 U—Fh 1/2% (0. 30+0. 451) *1. 508 m° 0.57
Cii 1.508%y/ (172+0.57°2)+1. 508y (1°2+0.4"2) m 3.31
ERGirY) 1/10%0. 57 m® 0. 06
KR E AT 0.44%1/2.5 m 0.18
Mo m A 1/2%(0. 30+ (0. 451-0. 03) ) * (1. 508-0. 30) = 0. 44
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5.5
B P W OREL)
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4.17 4.62

NO. 5~NO. 5+3. 57 1/2%(1. 45+1. 86) *3. 57 5.9
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NO. 5+10. 5~NO. 5+13. 1 1/2% (8. 79+4. 17) *2. 60 16.8
NO. 5+13. 1~NO. 5+14. 7 1/2% (4. 17+4. 62) *1. 60 7.0
W IR oy PEER RIS B -7.2




BB il X S
RC-40  t=200 BT R IT RIS
H=0. 71m H=0. 91m H=1. 06m H=4. 02m H=4. 15m H=4. 30m
0.91 0.97 1.02 1.91 1.95 1.99
H=2.04m = H=2.26m
1.31 1.38

NO. 5~NO. 5+3. 57

1/2% (0. 91+0.

97)%3. 57

NO. 5+3. 57~NO. 5+5. 3

1/2%(0. 97+1.

02)%1.73

NO. 5+5. 3~NO. 5+8. 0

1/2% (1. 02+1.

91)%*2.70

NO. 5+8. 0~NO. 5+9. 24

1/2%(1. 91+1.

95)*1. 24

NO. 5+9. 24~N0. 5+10. 5

1/2% (1. 95+1.

99) *1. 26

NO. 5+10. 5~NO. 5+13. 1

1/2% (1. 99+1.

31)*2. 60

NO. 5+13. 1~NO. 5+14. 7

1/2% (1. 31+1.

38)*1. 60

Dl S I ol B el B
D W o e O |

20.5




BERE T

A BB k=2 it X X BT Ny S
1-295 B/ APERE  SEEIH=1. 34m E¥H= 27.3/((1. 00+1. 044) *10. 0) = 1.34 m
el NO. 5+3. 57~N0. 5+13. 57 m 10.0
ENTAE o ck=18N/mm’ FRELIES 10.8
BB KHELIEZ IR 27.3
SLHERS RELIEZ R 12.0
KikE AT VP ¢ 65 10. 8%1/2. 5 4.3
H HikF BEE t=10 10. 8%1/10 1.1
ar 7 —Fk o ck=18N/mm’ HAT S & RIS B
H=0. 55m H=0. 79m H=2. 77m H=2. 89m H=3. 02m H=1. 14m
0.32 0. 49 2.54 2.70 2.88 0.76
H=0. 50m
0.29
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NO. 5+9. 24~N0. 5+10. 35 1/2%(2. 70+2. 88) *1. 11 3.1
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m” 27.3




B Givsza it L = =<¥hvA N Sy
RC-40  t=200 BT R IT RIS
H=0. 55m H=0. 79m H=2. 77m H=2. 89m H=3. 02m H=1. 14m
0. 87 0.94 1.53 1. 57 1.61 1.04
H=0. 50m
0.85
NO. 5+3. 57~NO0. 5+6. 35 1/2% (0. 87+0. 94) *2. 78 m’ 2.5
NO. 5+6. 35~N0. 5+8. 15 1/2% (0. 94+1. 53)*1. 80 m’ 2.2
NO. 5+8. 15~NO0. 5+9. 24 1/2% (1. 53+1. 57) *1. 09 m’ 1.7
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H= 2.04 m 0. 3%2. 04+0. 50+0. 10%2 m? 1.3
H=  2.26m | 0.3%2.26+0. 50+0. 10%2 m 1.4




1-275 8 ) Xgeke

[1.0m%4 D]

?r(:,/ké?sﬁ/;mZ HES - FHEFHEEME
fRffff:ﬁ |_|f
N
F=====-—- ;‘p IE
\7/);?&;35/{47 g
-------- = VHEIE S 4
?]’
0 000 B
IO'Q B=0. 3H+500 1]010
B+200
HH FHEX HAT B &
ar7 J—h
o ck=18N/mm”
H=  0.55m  1/2%(0.50+ (0. 55%0. 30+0. 50) ) *0. 55 m’ 0.32
H=  0.79m | 1/2%(0.50+(0. 79%0. 30+0. 50) ) *0. 79 m’ 0. 49
H=  2.77m  1/2%(0.50+ (2. 77%0. 30+0. 50) ) 2. 77 m’ 2. 54
H=  2.89m | 1/2%(0.50+(2. 89%0. 30+0. 50) ) *2. 89 m’ 2. 70
H=  3.02m  1/2%(0.50+ (3. 02%0. 30+0. 50) ) *3. 02 m’ 2.88
H=  1.14m | 1/2%(0.50+(1. 14%0. 30+0. 50) ) *1. 14 m’ 0.76
H=  0.50m  1/2%(0.50+ (0. 50%0. 30+0. 50) ) *0. 50 m’ 0.29
T e
I A ) FHE =R 1:0.3= 1.044
H=  0.55m | 0.55%(1.044+1.00) m’ 1.12
H=  0.79m | 0.79%(1.044+1.00) m’ 1.61
H=  2.77m | 2.77%(1.044+1.00) m? 5. 66
H=  2.89m | 2.89%(1.044+1.00) m’ 5.91
H=  3.02m  3.02%(1.044+1.00) m’ 6. 17
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B WO Givk=2 &t B = HAAT N A it
fE2+T
w R +w TRERFEE LY m 25.8
HEL 1. OmoAif TRERHEE LY m 11.9
e +w

2k IR BE 3. 0%25. 8%1/10 n2 7.7




P R
B BIPERE | TR Y AR L L OnA) :
gmE | T | % B WEl | T B o8& WmE | T 8 % &
S
NO.3 + 18.013 0.5 0.2
NO. 4 2. 0m 0.5 0.50 1.0 0.2 0.20 0.4
NO. 5 20. Om 0.5 0. 50 10.0 0.2 0. 20 4.0
N B 22. 0m 11.0 4.4
A
NO.3 + 14.013 0.5 0.3
NO. 4 6. Om 0.5 0. 50 3.0 0.3 0. 30 1.8
NO. 5 20. Om 0.5 0.50 10.0 0.2 0.25 5.0
NO.5 + 3.57 3. 6m 0.5 0. 50 1.8 0.2 0. 20 0.7
N B 29. 6m 14.8 7.5
& & 51.6m 25. 8m3 11. 9m3




B Bl Gike2 it B 2V XA AN E & Fh
i 1k o BE FEA NO. 3+14. 013~N0. 5+3. 57 m 29. 6
gl NO. 3+18. 013~N0. 5 m 22.0
51.6

[10.0mX4 v ] BIALS BR
a7 J—F o ck=18N/mm” m’ 0.8
U NS m 8.0
FEERt RC-30 t=100 m’ 3.0
H Hipt BEHEE t=10 m” 0.1
FLiHEE THp m” 3.0




[10.0m%4 v ]

SHEE IE D B
200
a4y )—+Fk
ock=18N/mm2
_____ R___
N - ”_”C
o
_________ o
<
I
o
1900000 S
HEEM =
RC-40 t=100
50/ 200 |50
300
HHE FHEK HANT ¥ =
a7 Y—k 0. 20%0. 40%10. 0 m’ 0.8
TR o 0. 40%2%10. 0 m® 8.0
FCHERS 0. 30%10. 0 m’ 3.0
B s 0. 8%1/10 m® 0.1
e 0. 30%10. 0 m 3.0




RREMm—ER

IE4 R3fEL EAJ #k-Kik #FHIEGEOFHERKRDR)

& FR B L 2Rivi L1 e
RYPRAI—k T-25 1500%1600%2000 & 226,000
mor& ;e m3 2,400 |:EHkEERE L=16.0Km
mor& AR t 10,000 |:EHftEERE L=27.7Km
nor& Rk t 20,000 |:EHRIERE L=27.7Km
MKLUTIE, BR2BMELLTEFELTLNSE
DA EESEMELLTRLIZLDTY,
EEIEES 4B 8REEFHIE = 472,059
HBERZES 4B 8REEFHIE = 31,620




